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Sample Paper – 2010
Class – X
Subject – Mathematics
General Instructions: 

1. All questions are compulsory.

2. The question paper consists of thirty questions into l4 sections A., B, C and D.  Section A comprises of ten questions of 01 mark ;each, section B comprises of eight questions of  02 marks ;each, section C comprises of eight questions of  03 marks each and; section D comprises of five question s of 06 marks each.

3. All questions in section A are to be answered in one word, one sentence or as per the exact requirement of the question.

4. There is no overall choice. However, internal choice has been provided in one question of 03 marks each and two questions of 06 mark each.  You have to attempt only one of the alternatives in all such questions.

5. In question on construction, drawings should be neat and exactly as per the given measurements.

6. Use of calculators is not permitted.  However you may ask for mathematical tables.

Section A

1. State if the number is given by 5.355335533355333355….  is a rational or irrational. 

    Justify it .

2. State the fundamental thereom of arthimatic.

3. If 
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 , then find  the product of  
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4. Write the condition for a pair of lines given by 
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     Parallel.

5. Find the 18th term of an AP 
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6. Express 
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 in terms of trigonometric ratios of angles between 00 and 450 .
7. If the ratio of the areas of 2 similar triangles is 1:4, find the ratio of squares of there corresponding sides.

8.  In the given figure , TP and TQ are two tangents to a circle with centre O so that 
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9. A number is selected from the numbers  1, 2,3,4,5…………,25.What is the probability that the number selected is a multiple of 5 ?

10.Find the area of the shaded region in the fig1 if ABCD is a square of side 20cm and APD and BPC are semicircles. (
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=3.14)
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Section B

11. Show that any positive odd integer of the form 8p+1 or 8p+3 or 8p+5or8p+7  where p is some integer.

12. If 3tan
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 = 4, find the value of    
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13. If 
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 are two zeros of 
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find a polynomial whose zeros are are 
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+2.
OR

      If one zero of  polynomial 3x2 = 8x + 2k + 1 is seven times the other, then find the zeroes and value of  k.

14. The mid point of the line joining (3a,4) and (-2, 2b) is (2, 2a +2). Find the values of a and b.

15. Prove that the parallelogram circumscribing a circle is a rhombus .

Section C

16Determine graphically the coordinates of the vertices of a triangle, the equations of whose sides are: y = x, y = 2x and y + x = 6

OR

        Raman has two daughters Deepa and Anju. Present age of Raman in years is nine more than that of twice the sum of Deepa and Anju.                                 Five years hence the age of Raman will be four more than one and a half times the sum of ages of Deepa and Anju. Determine the age of  Raman.

17. Using  substitution method solve the following system of equations: 
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18.  An AP consists of 21 terms. The sum of the 3 terms in the middle is 129 and of the last 3 is 237. Find the AP.

 OR  

       In an AP the sum of first n terms is 
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. Find its 20th term.

19. 19.   Prove that (sin A + cosec A)
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 + (cos A + sec A)
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= 7 + tan
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A + cot
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20. 20.   Three consecutive vertices of a parallelogram are A(1,2), B(1,0) and C(4,0). Find the co ordinate of  fourth vertex D.

21. [image: image1.wmf]a

21.   The vertices of a triangle ABC are A(5,2), B(-9,-3) and C(-3,-5). D,E,F are respectively the mid points of BC, CA and AB. Prove that the

22.  area of triangle ABC is equal to four times the area of triangle DEF.

23. 22.  Equilateral triangles are drawn on the sides of a right angled triangle. Show that the area of the triangle on the hypotenuse is equal to the
24.  sum of the areas of triangles on the other two sides.
OR   In the given figure, l and m are two parallel tangents at A and B to a circle with centre F. Tangent at C makes an intercept DE between the tangents l and m. Prove that 
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DFE = 90
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 23. A sector of a circle of radius 12cm has the angle 120
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.It is rolled up so that two bounding radii are joined together to form a cone. Find the volume of the                                                                                                                                                                                cone.

24. One card is drawn from a pack of 52 cards each of the 52 cards being equally likely to be drawn. Find the probability that the card drawn is      i)red    ii)a king     iii)red and a king.
25. From a point 5cm away from the centre of a circle of radius 3 cm , draw two tangents to the circle .
Section D

26. .If the median of the following distribution is 28.5, find the values of x
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and x
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	C.I
	0-10
	10-20
	20-30
	30-40
	40-50
	50-60

	Frequency
	5
	x
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	20
	15
	x
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	5


25. 27. There are two temples , one on each bank of a river , just opposite to each other .one temple is 50m high .From the top of this temple , the angle of depression of the top and foot of the other temple are 300 and 600  respectively . Find the width of the river and the height of the other temple.
28. A two digit number is such that the product of its digits is 18.When 63 is subtracted from the number the digits  Interchange their places. Find the number.                                                                                 

OR

   The side of a square exceeds the side of the another square by 4cm, and the     sum of the areas of the two squares is 400sq   cm. Find the sides of the two   squares.

29. A cylindrical tub of radius 5cm and height 9.8cm is full of water. A solid in the form of a right circular cone mounted on a hemisphere is immersed completely in the tub. If the radius of the hemisphere is 3.5cm and the height of the conical part is 5cm, find the volume of the water left in the tub. (
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OR
A cylindrical container of radius 6 cm and height 15cm is filled with ice cream. The whole ice cream has to be distributed to 10 children in equal cones with hemispherical tops. If the height of the conical portion is 4 times the radius of its base, find the radius of the ice cream cone.

30.State and prove the Pythagoras theorem.Using the theorem solve

       An aeroplane leaves an airport and flies due north at a speed of 1000 km/hr . At the same time another aeroplane leaves the same airport and flies due west at a speed of 1200 km/ hr. How far apart will be the two planes after 1
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hrs.
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